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\/17) How tall is a tree that is 6 meters shorter than a wall that is seven times higher than the tree?

T U3 ool e § S 3T SIaR & 6 HIeT BT & ST U8 & ATl I[=11 St 872

1. 7 meters/7 X [Option ID = 4725]
2. 2 meters/2 HICT [Option ID = 4726] @
3. 1.25 meters/1.25 HeX [Option ID = 4727]

\/z./ 1 meters/1 HIeX [Option ID = 4728]

18) If the selling price of X 24 results in a discount of 20% on the list price, what selling price would
result in a 30% discount of list price?

A
18) AT % 24 % TaHT Hed W TN Hed @ e e 8, o el 7752 T 30% A ge F A

T FIT 2T m,PA @PﬁD
N ! 4 ’-L’B <

21/21 [Option ID = 4729] \SOW2P . 1 %Z‘ =
2.27/27 [Option ID = 4730] O \

3.20/20 [Option ID = 4731] G f - lon-20 ;&o’h Lo\, *

4.18/18 [Option ID = 4732]

;_f_D/IQ—\\

19) Given below are two statements

Statement |: The number 89325324 is divisible by 66.

Statement Il: The set of natural numbers is also called the set of whole numbers.

In light of the above statements, choose the correct answer from the options given below

19) A ST Ruaw §
U |: TEIT 89325324 66 T AT §1 \/

YA II: WWﬁ%Wﬂ#qﬁmﬁwwaﬂwm%)ﬁ
1. Both Statement | and Statement |l are true/

2. Both Statement | and Statement Il are false/

3,Statement | is true but Statement Il is false/

4. Statement | is false but Statement Il is true/

20) Which of the following statements are correct?

A. If A's speed is more than B's speed, then to travel the same distance, A will take more time than B ;‘\
B. Two speeds, 1500 m/min and 90 km/hr are equal

C. By walking at a speed of 18 km/hr, the distance covered in 2 minutes and 30 seconds is 750 meters
Choose the correct answer from the options given below @

zmﬁmﬁ@aﬁﬁaﬁam¢aaﬂé’r%‘?
AFTITIB mamaqu&mmmmammmx
\/Ba’mﬁr 1500 Hrex/fAeTe 3R 90 fRal/g W%
e 18 Tl drafa & f&e1e 30 Jfratraﬁr?réql‘nsoma.%/
<712 R e R #F & ) 3 T ATy g
1. A and B only/aaoT A 3iR B [Option ID = 4737 \\/
2. BandConIy/aTclTvrBSﬂTC[OptlonlD 4Z}// "
3 nandConyAmmATRCOpiano-ar) AT w0 T
4. C only/3dd C [Option ID = 4740] b *‘\'7 _-T’l$°/

N
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Match List | with List Il

List I List Il

A If'A'is True |. 'E'is True; 'O' is True

B.If 'E'is True ll. 'O' is False; 'E' is False \/
C.If'I'is False lll. '"A" is False; 'l' is False

D. If 'O'is FalselV. 'E' is False; 'l' is True

Choose the correct answer from the options given

T3R'TIIEIL S gag; 3 aug
B. A 'E' AT § 1131 3[BT &; '$' aTeicT &
C. TR 3\, T AT E; A ST

D.Ifg 0 AT R IV. 'E' AT E; ' TG = N
¥~ ==
1.A-IV,B-Il, C-lll, D - [Option ID = 4741]

2.A-ll,B-l,C-Il,D-IV [Option ID = 4742]
.A-Il,B-lll,C-I, D-IV[Option ID = 4743]
4.A-1,B-ll,C-lll,D-IV [Option ID = 4744]

Easy Notes 4u Online Study

Match List | with List Il

List | List 11 N

A. Ashrayasiddha I. Sound is eternal because it is visible

B. Svarupasiddha IlI. All real are momentory; sound is real; sound is momentory
C. Vyapyatvasiddha Ill. All objects are eternal because they are knowable

D. Anupasambhari IV. Sky lotus is fragrant because it belongs to the class of lotus

_&afey emeaa & Fife I T THT &

|| T3 Rer 87701 §; Cafa areafas §; eafer effoh g
11l F3fY U emead g Fifeh 3 STt A §
mrmmﬁa%ﬂﬁ:mm%aﬁw%

Choose the correct answer from the options given below:
1.A-lll,B-ll,C-IV, D-I[Option ID = 4745]
2.A-1l,B-IV,C-l,D-lll [Option ID = 4746]
~3A-IV,B-I,C-Il, D-lll [Option ID = 4747]
4.A-1,B-ll,C-Il,D-IV [Option ID = 4748]

Name the fallacy committed in the argument below

"All men who understand women are potentially perfect husbands.

All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women."

A e aTw ek 7 6 18 HIf T ATH TAST

"HefY oV St AT &bl FHsTd § 3 Honfad &9 & qur afd g1

Tt @enTiae qot o 31 & & qew g
m,mwmm@w@wm%ﬁmﬁﬁm%w
1. llicit major/37ae Y@ ——

2. Undistributed middle/31TadRda 7T \/
('Exmtentlal faIIacylmﬂTﬁf

4. Exclusive premises/ T¥ aRTAT
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\%) The middle term of the inference is related to the major term neither as a cause nor as an effect
but because they are uniformly related to each other in our experience, is known as

24)meﬁqaﬂsﬁwa:mﬁaﬂwaﬁrqma:mﬁmemﬁma%,a%cﬁ

sﬂﬁvﬁ:a‘gﬂﬁmméwa@%@wm %%mﬁmm%
§ste

1. Purvavat/ﬂ\éﬁ?—ﬂ'
2. Sheshavat/?iaa%—l > )\J\
3 Samanyodrashta/ﬂﬂiﬂa"@ \\ Vl\ﬂ}((‘ z\

4. Pakshdharmita/4 GeTefaraT — (’\

25) Pick the correct option to represent the given argument
All artists are egoists -
Some artists are paupers

Therefore, some paupers are egoists
Choose the correct answer from the options given below
25) Rw 9T exds i SRl et & oV ) et ot /
m—-\’rwm% -

T T T ¢ \j M

SR 3 T AT A ¢ T

Y R AT Farot 3 4 78 3R T &DL\

1. A ll - I figure/All - | 3TTeh X [Option ID = 4757] /
2. All - 1l figure/All - 1l 3TTehIX [Option ID = 4758]

3. A ll - llI figure/All - 11l 3T [Option ID = 4759] /
4. Al -1V figure/All - IV 3TehX [Option ID = 4760]

Easy Notes 4u Online Study

26) What is the World Wide Web (www)?
g5 aSs ad (www) TTE ?

\JKOIIection of webpages stored on websites/ﬂﬁﬂ@ﬁqmﬁwaﬂm
2. Interconnected networks/mﬁﬂgm

3. Hypertext processor/@'lnggﬂw

4. Web browser/

27) What is Ethernet?
FWATE ?

M;M.wmmmmmmwwmm
2. A protocol used for address translation/@@ﬁ?ﬂ?ﬁﬁgﬁﬂmmmwm
3. A security protocol/Teh ﬁ?ﬁm\fﬂ
4. A collision-detection protocol/Teh EW—WWTH
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Match List | with List Il

List I List I

A. System Software I. Library Management System
B. Application Software II. Firewall

C. Security Software Ill. Compiler

D. Embedded Software IV. Automatic fridge

Choose the correct answer from the options given below: 2)\461;\, \/
T TAECH AP |. JETRIeIT Tl JOTTHT —

. ToelihereT IitredR 11 BrIRard M@

Y. GR&T FIFedIT . Hehelh N

2. U933 AIFcaR IV | Tgatford het v
1.A-l,B-lll, C-IV, D -ll [Option ID = 4769] \ .
2.A-ll,B-IV,C-I, D -l [Option ID = 4770] 5 o
3.A-lll,B-IV,C-l,D-ll [Option ID = 4771] /7

\ﬁ’. A-lll,B-I,C-Il,D-IV[Option ID = 4772]

Given below are two statements

Statement |: DVDs use a single spiral 'track' to store data working from the centre to the edge.
Statement Il: DVDs are Read-only devices -

In light of the above statements, choose the correct answer from the options given below

$m:sﬁ/aﬁ€réﬁﬁﬁmﬁa$mwrééaaﬁwm$mwaﬁa'%'wmm

gl .
$uﬂ||:3ﬁaﬁ€rﬂ33ﬂa?ﬁ%ars¢r%7\w % o
1. Both Statement | and Statement Il are true/

2. Both Statement | and Statement |l are false/

3. Statement | is true but Statement Il is false/

4. Statement | is false but Statement Il is true/

Which of the following statements are true?

A. Simplex data transmission is in two-directions only

B. Half-duplex data transmission is in both directions but not at the same time

C. Full-duplex data transmission is in both directions simultaneously

D. Serial data transmission is when data is sent, 8 bit at a time, over a single wire
E. Parallel data transmission is when one bit of data is sent down over a single wire
Choose the correct answer from the options given below:

@i daslaaradr g

T | fAFcoia 3T SrafAeIe shaol &l feRm3i H &
SV BTR-Zoler ST SIATARI Gleil feM3it & § oifehet Ueh &1 THE H w761 §
. qut-gde SeT deror Ue are el feemait A g

Y| DRI 2T ATERIS o &1elT & ST 32T SoTT ST &, Teh IR & 8 e, U aR o)

$. AR 3T AT a9 81T § ST Ueh dR IR Uk fae SeT A ST e

oA T are fyemedt & @\ s AT

1.A,BandC onIy/aTclTvr A B 3Rc [Option ID = 4777]

2.C,DandE onIy/avT:I'(_*r C,D IRE [Option ID = 4778]

3. Cand D only/&ad C 31X D [Option ID = 4779]
\/1. B and C only/a&hdadl B 3R C [Option ID = 4780]
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\/3{) In agricultural regions, groundwater can have significant concentrations of which pollutant?
31) Y 811, 31Tel 3 P T Y FAgca Ul AGAT BT TR 8?2
1. Lead/®T [Option ID = 4781]
2. Cadmium/&T3HIH [Option ID = 4782]
3. Selenium/TI 3T [Option ID = 4783]
\4/ﬁhrate/;n's' 3T [Option ID = 4784]

VB{Which of the following types of power plants provide electricity consistently running 24 hrs per
day, 7 days a week? ) T -

32) AT fEa & & foha IR & TesTell T3 Acdig & 7 & oRaR 24 g¢ STl Ui i 6.7
1. Geothermal/ﬁ{\- ard=r [Option ID = 4785\/

2. Solar/I1X [Option ID = 4786]

3. Wind/Y9dd [Option ID = 4787]

4. Hydro/STeT [Option ID = 4788]

33) Which of the following Green House bases were the target gases whose emission was to be
covered under the first commitment period of the Kyoto protocol?

33) e faf@a & @ i a1 e g3 9 afera A oY TSI IcTotet FAeT Mekhid Hf aga

Siceetrar 3afe & dgd shal [T e aT?
A.SO2

B.coz ./

o\riomerd
D. NH3

E.CH4

1. A, B, C and D only/&hdel A, B, C 3R D [Option ID = 4789]

2. A, B and C only/&hdel A, B 31 C [Option ID = 4790]

3.B, C, D and E only/ahadl B, C, D 31X E [Option ID = 4791]
\}./B, C and E only/&dd B, C 3T E [Option ID = 4792]

/ In India, according to Niti Ayog's SDG Index (2019-2020), which is the best performing state on SDG-9
(Industry,Innovation and Infrastructure) -

R H, T 3T & THSIST S35 (2019-2020) F HTHR, S THSNSM-9 (3N, AR 31
YAATEY T W HGH 3T Jedie el AT AT ¢ |

1. Kerala/3eT [Option ID = 4793] G
2. Gujrat/ﬂFITlT-r [Option ID = 479?]} AQ\(
-

3. Karnataka/ehdll €eh [Option ID = 4795]
4. Telangana/deldTT=T [Option ID = 4796]
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Identify the correct sequence of wind energy potential at 100 m above ground level in decreasing
order

aﬁmﬁaﬁ:ﬁw@woﬁawmmﬁm%aﬁwﬁmaﬁ

A. Karnataka — 58. "g_ - E—
B. Andhra Pradesh WAL

C. Gujarat AWML 0

D. Tamil Nadu 350

E. Andaman and Nicobar Islands PRt 1 b

Choose the correct answer from the options given below
1. A>B>C>E>D
2. D>C>A>B>E
3. C>A>B>D>E
4. C>E>B>D>A

Match List | with List Il

List I List Il /

A. Lay down standards of legal education I. NCTE

B. Maintaining the quality of technical educatlon Il. AICTE /
C. Maintenance of standards in teacher education Il NMC

D. Access to quality and affordable medical education IV. BC

A. FleTeT TRIETT & HATeTeh el &Y 1. NCTE

B. Tiehaitehl TRI&TT 2hY J[UTAICT ST TG (1. UTSHIES

7. fRr87eR TRY&TT # ATeTehT T TER@IT |l
D,Waﬂ?mﬁmﬁm%q@mv.@[@

Choose the correct answer from the options given below:
1.A-IV,B-ll,C-l,D-lll [Option ID = 4801]
2.A-1,B-ll,C-IV, D-lll [Option ID = 4802]
3.A-ll,B-lll,C-IV, D-I[Option ID = 4803]
4. A-lll,B-IV,C-l,D-ll [Option ID = 4804]
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University of the ancient period which has been declared by UNESCO as a heritage site is:

WWW%&WWWMWFW%W#WMW%

A. Mithila =

B. Vallabhi

C. Pushpagiri

D. Takshashila

E. Na Ianaa \/

Choose the correct answer from the options given below:
1. A and B only/addl A 31R B [Option ID = 4805]
2. B and C only/addl B 3iX C [Option ID = 4806]
3. C and D only/&der C 31 D [Option ID = 4807]
\4/0 and E only/aael D 3T E [Option ID = 4808]
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The first education commission in Independant India is:
TIAT AR H Igoll FN8T 3mArer §

1. Secondary Education Commission/ \/

2. The Education Commission/

3. University Education Commission

4. National Knowledge Commission/

Gender Parity Index in higher education in India is;
s 5o o s g (0 )

1. 1/1 [Option ID = 4813] - M

2.1.1/1.1 [Option ID = 4814] v
3.0.99/0.99 [Option ID = 4815]
4.0.98/0.98 [Option ID = 4816]

40) Which of the following are Central Universities?

fArafaf@a # &+l @ i Aeafaearea 82

A. Dr. Babasaheb Ambedkar Open University/~

\ B. Jamia Millia IsIamia]
C. Panjab University

D. Punjabi University —
E. University of Mumbai ~,

Choose the correct answer from the options given below:
1. A and B only/adadl A 31R B [Option ID = 4817]

2. B and C only/addl B 3iX C [Option ID = 4818]
3. C and E only/a&del C 3iR E [Option ID = 4819]
4. C and D only/adel C 3 D [Option ID = 4820]
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